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Principle and Algorithm to Fulfill Grid Computing for GIS Models

HU Haibo®, LI1U Weidong®, LI Jing?, ZHU Wenquan?
(1. Institute of Urban Meteorology, China Meteorological Administration, Beijing 100089;

2. Institute of Resources Sciences, Beijing Normal University, Beijing 100875)

Abstract The problem of the model computing for GIS application is that the processed-data is being more and more gigantic, and its procedure
is much more complex than ever. The grid computing is the key to solve it. The computing mode of GIS model could be listed as the parallel, the
serial and the parallel-serial. Based on these modes, the paper brings forward three prototypes to fulfill grid computing, such as the
pieced-processing, the stepped-processing and the cubic-processing. Consequently, it also gives the principles of dividing vector data, and the
parallel algorithm of histogram, convolution, and curving-fitting, which could be the basic and extension of the other more parallel algorithm for GIS
application.
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